Fo50E FEEREMKREPartI #HETER

5A108(H)
Bk A il R P F 1R HIR - AR REEE Teath Si0p =¥ AEERHS
35 TLURY YT (UAR~80cm) 15E2[E 60871 —-10BEATREE TRt x X ¥5,000 &EL
L A238—2—1 £ B¥5000-
36 CEAYL—FC 80cm H8OemEAA- TR (EEHE) (A —T>  1H2E0PK< x FRB1 3E£ B¥8,000- Vi 5,000/
24 2,000
A238—2—1
S s — BRI ey s N £ B¥5000- TN
37 CEAZL—FA 100cm =7 Hmocmup?%jznﬁ(?;ﬁ%‘)‘it 7 X FRAT = 8¥8,000- i & 5000/
’ 22000/
A238—2—2 ~ =
TR EM-DHS R DERK H110cmEA W130cm IR FRP = ¥ 5000~
38 REm 7 P E50m 13EE LA Ot Ir=x 88,000~ 14 10,000/
24 5,000
EE N o A238—2—2 o ~
39 TEBTEZ" ?/771 H110omBELA W130cmiL x FRP ?ﬁ*—*“igggg— x
747 SEI0m  13WELN B2 RE¥,
. ~ A238—2—2 2~ B _
T HEREEM-CH S R BEBTHEE H120cmELA W140cmBLP RI = HY¥5000 e
40 R 77 LE-RELT 53E950m 130 BLFY OG) 7 I §¥8,000- IR 1421000073
24 5,000
EHEEEM-CIFR A288-2-2 £ B¥5000-
41 rSATIL P i I e« W X 7RI JE2 B¥8,000- x
N A238—2—2 |
ZEEEM-BIS AELT H130cmBARI W150cmBL = ¥ 6000~
42 et 732 RESTF Sasom  1OHEELA OG0 7RG FE=B¥ 10,000~ 14 10,000/
24 5,000
A238—2—2 o =
TR EM-AYS R RERT H140cmBAP W160cm AP FRG =, 5% 6000
43 et 77 Syasom 1O OG0 FE=B¥ 10,000~ 142 10,000/
24 5,000
= H60cm LA o0
44 60cm¥5 2 BiES LISENE - TO(EEE) F4—7> 1 B2E0PK] X FRB1 ¥5,000 UYL sooom
2 2,000
45 JOREE BEAA LISGEVWE-TRGEEE) A —T> 152EO0PKL X FRB1 ¥5,000 @ -
14 5,000
24 2,000
46 i EEARIEPTEE BES LISEVNE-TO(EEHE) @A—TY  1H2E0PKK X FRC1 ¥4,000

* SIEFABIZEY ., BRBRUBRROIEENERLLGLEENHYET, ) o
* NERBRICHIET 51=OI2E. BRRULDBERENBERISIAREZRET. BERHIBAEMERADTL—FBRENGSNTOSERIZRYET,

FERERMGSR




